N = 0l & At & Ml A

20138 &= S0l & LB H MR22 ~ NSR21

AN N2

Za: GFENE

01 Jor
0 Of

Sl FEGD TS NYH 2L (29l & 2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

ANl 221 408,510 390,477 18,033
AN=TE &= 329,334 311,877 17,457
Hetoln ZHsH N8AHA 2 109,454 126,967 A17,513
KA LR =& 99,480 109,600 A 10,120
201 Bt A H| 98,630 108,750 A 10,120
01 AP 2t2l bl 23,930 22,250 1,680

O XM DXM HMZ 11,825

- SEHSAMN YMIXA 33& x15,000H 495

- NSXA MR A 33& *170,000H 5,610

- FON EMI2XA 33&%125,000H 4,125

- =AE DKM 63,800 *158F A 957

- NYE OXAM 63,800& *108F A 638

O XA &8 - Jt=Hl 10,230

- SEHGA 33& x15,000H 495

- XS XA 33&*170,000H 5,610

- FalAl 33& *125,000H 4,125

O LXAN &8 S5 1,875

-H2EE 463 x30,000H4 1,380

- LUEE 33& x15,000H 495
02 33249l 74,700 86,500 A 11,800

O LXNAESsS 22 74,700

- ABH(EAA) 220% *300,00021 66,000

- SI(EAA 1,740& x5,00021 8,700
203 &R =&H| 850 850 0
03 AIHF=X SR =AH| 850 850 0

O N3g=2 g2FA 1,000, 000& *85% 850
A2 HMIOE /st 22E8s 3,516 4,840 A 1,324
201 et A | 3,516 4,840 N 1,324
01 At 22l bl 3,516 4,840 AN 1,324

O NH 22 M 3,516

- NEA E2 tUHE & ®EX

50 x4 0008 4 3] 800

- HANUE &8 HE 70,0003 %44 73] 1,960

- 2HE XA 9,000 x21JH x4 3] 756
S}Y4o Hug M1 L W24 s 1,845 1,845 0
201 et A | 995 995 0
01 At 22l ] 995 995 0

O XNYLAN 2T M 995

- AN Ee 35,000 x23H 805

- NN &% 95,000& =23 190

_1_




AN N2

Za: GFENE

01 Jor
0 Of

SRl MEGD TS NYH RBI4L (er:@e)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
203 € R F & 850 850 0
03 AIZH =& 2 F X Y| 850 850 0

O HMEZ=R g45 =4 1,000, 000& *85% 850

DpsEAOol XIBEN K2 2e 2 24 4,613 10,682 6,069
201 et 4,613 10,682 A6,069
01 AP 2t 2| H| 4,613 10,682 6,069

O XEAH B EX NHA 63,800& 158 A 957
O XA SH2S A A 1,016
- NMsg 2AHA 1,000& 200 200
- XM= LdHA 1202 *8000H 96
- N2AM-= 2AA B H 3,600 »2000H 720
O MgZAES ZAH| 7,000 x2H x10L 140
O XNEAH MEaEHE 8 =422 S
100& 25,0004 2,500
SSHQ YA Al 152,624 159,934 AN7,310

NSIA HEXE BT IX &5 12,680 9,800 2,880
201 gBt24d| 4,680 4,680 0
01 AFR2 22| H| 1,680 1,680 0

O Mgxg Hao AX 24|
7,0008 x15H 1Al x163] 1,680
02 =224 H| 3,000 3,000 0
O Mgxg Haoh AXE POA EXE
50,000& x50 x12& 3,000
202 o4 | 7,200 4,320 2,880
01 2Ll 7,200 4,320 2,880
O Mgxg Hao Ax &5 0dl
15,000& *8H »123| x5& 7,200
405 XHA&HF S HI 800 800 0
01 XAt = EF S HI 800 800 0
O MEgxg Haioh dis st ZTei)|
800,000 800

2ES N2 = NS 11,700 13,200 A 1,500
201 et d| 2,500 6,000 A 3,500
01 AP 2t 2] H| 2,500 6,000 A 3,500

O 2N 23 & =2 1,500,000 1,500
O g SIl +0IX 242
1,000 x1,00024 1,000
303 ZA& 2 9,200 7,200 2,000
01 A2 9,200 7,200 2,000
O A Ax=ZAM= 8,000,000 8,000




TONIR2t
H

A=W &=
SsXo dgAM Fel CEERED)
(o
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
O F2=c0 o8 N 2243
40,000,000 *30%* 10% 1,200
HYDXAM M 2s 128,244 136,934 A 8,690
201 LBt ]| 128,244 135,434 AT7,190
01 AP 22| H| 55,434 55,434 0
O HYDXAMN M 19,734
- GAMA(2E) 89, 100& 2008+ A 17,820
- HIgH4A(A4) 63,800 308 A 1,914
O HYDXNAN =24 47& «600,0000H 28,200
O HMEILXAN &8 25 EH|
112 %600, 0000H 6,600
O MED2XAN 25 M2 4521 %20, 00004 900
02 B32%H| 72,810 80,000 AT7,190
O MEDQXIAN &8s 2ERZ 72,810
- &I 1,770& x3,00021 5,310
- 26t 2703 x250,0004 67,500
2 N A2t 67,256 24,976 42,280
N el =2 DXA Mz 1,276 1,276 0
201 2et2 Y| 1,276 1,276 0
01 AP 2t 2] H| 1,276 1,276 0
O M2 YHMI2XM HE 63,800& 208 A 1,276
Hel+e HRAAY SX24 18,500 14,500 4,000
403 XX SHHS X201 & 18,500 14,500 4,000
02 SO 2SO CHsSHCH A I 18,500 14,500 4,000
O M= HEAAE S22
18,500,000& 18,500
sSsH Y delEgs 8% 47,480 9,200 38,280
201 et d| 38,280 0 38,280
01 AP 2t 2] H| 38,280 0 38,280
O M2 HEX 28I : 38,280
- NNEAEXILL2 3,960, 000& 3,960
- MY FAAEAIES 17,820,000& 17,820
- OloICIAIE 2 1,320, 000& *51 £ A 6,600
- dgsE=E 4403 22,500 9,900
303 ZA =2 9,200 9,200 0
01 ZAa2 9,200 9,200 0
O F N2 HLEILLAZ 7,000,000 7,000
O M= Mg M| Ala3 2,200
- X2 1,000,000 1 £ A 1,000
-2 700,000 10 & A 700

_3_




SN M 2D
HE: GEHR 25
Sl R ML Fam2 CERED

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | | - = 500,0002 17 2 A 500
HE 2 AU (HR21) 79,176 78,600 576
Jl2ZHl(MR21) 79,176 78,600 576
Jl2d gl (M S21) 79,176 78,600 576
201 B2 bl 17,376 16,800 576
01 At 22|l 16,416 15,840 576
CIEY EX-BI-PE-_T
40,0003 *24H 123 *90% 10,368
O 2AI=L2 28 SAH|
7,000 x24 3 34 « 12 6,048
02 =224l 960 960 0
O daEH KX 80,000& x12& 960
202 odl 57,600 57,600 0
01 = LH YI 57,600 57,600 0
O &2 NI 20,0003 x24H 103 122 57,600
203 PR =&l 4,200 4,200 0
04 EAN2IHRF=EHI 4,200 4,200 0
O BEA2IYRF=AHI 350,000& »12& 4,200




